Math 120
Review Sheet: Functions

Evaluate each function.

D fla)=[-2a] - 3; Find £(8)
3) w(x) =3x—5; Find w(0)

5) w(x)=-2 - 3% Find w(0)

7) plx)=3x> - 3x; Find p(8)

9) k(#) = 3t—5; Find k(-2)

11) k(x)=-3|x—1|; Find k(~6)
13) h(n) =-n® —1; Find h(7)

15) h(n) = 4n + 5; Find h(4)

17) h(x)=x* + 4 + 2x; Find h(1 + x)

19) g(t) =7+ 4; Find g(t - 2)

21) g(x) = 3x* - 1; Find g(%)

23) g(n) =—|n|: Find g(3)
25) g(x)=x+4; Find g(-2b)
27) f(x)=|x-3|; Find f(-4x)

29) f(x)=-3-5"+1;Find f(a-3)
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2) wlz) =1* — 4¢; Find w(-4)

4) p(n)=3n-15; Find p(5)

6) pln)=~|nl; Find p(-6)

8) k(n)=n*+ 3n; Find k(-10)
10) h(a) =3“"* —2; Find h(-1)
12) k(r) =2 + 3; Find k(-2)
14) h(x) = 2x; Find h(-6)

16) h(x)=5""; Find h(-3y)

18) h(n) =-3|n|: Fmdh(z)
20) g(x)=3"""=2; Find g(-x)
22) g =—2|x+1| Flndg(4 x)

24) g(n) =n*—4 - 2n; Find g(—Zn)

26) f(a)=3a+ 3; Find f(-a)
28) f(n)=n’+2;Find f(n+4)

30) f(x)=x*+3x* Find f(1 +x)



Perform the indicated operation.

31) gn)=n+4
h(n) =n’ +2n*
Find (g - h)(n)

33) f(t)=3t+1
glt)=1-4
Find (f + g)(r)

35) f(t)=-3t"-2+2¢

gt)=2r+1
Find (f + g)(r)

37) fln)=4n+1
g(n) =n’+5
Find (f — g)(n)

39) f(n)=-3n
g(n) =n*-5
Find (f — g)(n)

43) g(n)=3n-2
h(n)=2n-5
Find (g — 5h)(=5)

45) g(t)=1*—4¢
flt)=r+4
Find (g + £)(9)

47) flx)=2x+4
g(x) =x’+4

Find (i)(6)

8

32) gln)=4n-5
f(n) =n*+n
Find (3g +5f)(n)

34) g(n) =3n+3
h(n) =-3n’+n
Find (g . h)(n)

36) gla) =-3a*+2a

ha)=-2a-5

Find (%)(a)

38) glx)=x*+1
h(x)=4x+2

Find (ﬁ)(x)

=

40) glx)=3x+1
h(x) =3 =542
Find ( ge h)(x)

42) h(n) =n’>—6n
g(n) =2n+1
Find (1 + 3g)(6)

44) fla)=a*-2
g(a) =4a+2
Find (f - g)(1)

46) h(n) =2n-4
g(n) =—n?-2n
Find (h + g)(-7)

48) hin)=4n+3
gln)=n-1
Find (7 — g)(9)



51) glr)=-3> -1
h(t)=4t—4
Find (g o h)(21)

53) h(r)=—1 -3
gt)=1+2
Find (-3h - 5¢)(=3¢)

55) h(x)=2x+4
glx)=x’—4
Find (1 - ¢)(z)

57) gla)=2a4+1
f(a) =3a-2
Find (g + )2 +a)

59) g(a) =a’+2
fla)=—4a+2
Find (g - f)(-2a)

50) f(x)=2x—4
g(x) =2x+2
Find (f ° g)(-10)

52) ha)=a*>-5
g(a) =4a+3
Find (h — g)(—4n)

54) h(x)=-3x+5
gx)=x2+5
Find (h . g)(xz)

56) g(r)=3r—4
h(t) =31+ 3
Find (g — h)(r+ 1)

58) h(x)=x+3
g(x) =-2x-3

w2

60) f(x)=x>+3
gx)=2x-5

)



Answers to Review Sheet: Functions (ID: 1)

1) 13 2) 32
5) =2 6) —6
9) —11 10) 7
13) =50 14) -12
17) 7 +4x+ x* 1

18) =3|—n

2
21) —1 4542 22) 2|5 x|
4

25) —2b+4 26) —3a+3

28) n’ + 12n* + 48n + 66

31) n* + 6n° + 8n? 32) 5n* +17n-15

35) —3t* +4t—1 -3a*+2
) 36) 3a” + 2a
—2a-15
39) —n* —3n+5 40) 3x° —15x* +1
43) 58 44) -6
2 48) 31
47) 3

51) —192¢* + 1841 —44  52) 16n* + 16n—8

54) =3x8 +5x* — 1522 +25

57) 2a° + 12a* + 27a + 21 12+ x
-12 -2x

58)

81+ y°
-135+ 18y

29) —3-5°7% +1

3) =5 4) 10
7) 168 8) 70
11) -21 1
) 12) ﬂ
64
15) 21 16) 5%
19) t+2 20) 377 ' -2
1 24) 4n* —4 +4n
23) —|—n

27) |-4x-3
30) 4+9x+6x% +x°

33) 41— 3 34) —9n° — 6n* + 3n
37) —n +4n—-4 w2 +1
38)
4x+2
41) -1 42) 39
45) 58 46) —53
6 50) —40
49) — )
25

53) =813 + 15t —1

55) 2t* + 41 — 8t — 16 56) —7

59) 4a* - 8a



